RESPUESTAS INTRODUCCION A LA ELASTICIDAD
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RESPUESTAS INTRODUCCION A LA ELASTICIDAD

a)a=0;, b=200; c=0 vy d=7

b)N = 11225 (Pa) y T = 186,95 (Pa)

f =-16i -10j+0k  (Pa/m)

1 5 -4
S=|5 -4 1| (Pa)

401 9
|o)|\1=—‘::k2 (Nm?2) y T = 2(k2 (N/m?)

Skhad)=0 vm?) y  Slei)= o0 (wm?)

slie.i)= =355 (um?) y s(rD,—i)=—3Zfl’4L] (N/m?)

4H
Oy = —gc (KPa); Oyy = éc (KPa) y 6,, = —o (KPa)
o; =9 (KPa); c, = -9 (KPa) y o, = —18 (KPa)
N 2, 1. 2=~ N 2 A ~ N 2 A 20
n, = -1+ =j+-k; —|+—+—k n=—-—-1—-—j+=-Kk
23! T3l e =73l T3l T Y ! 3' 373

o, = 2 (KPa); c, =1 (KPa) y o, = -1 (KPa)

=—i+—j+—k n,=——"i+ —j+0k np=—.]>i—.,=j+,/=k
837 3 3 173 2 2 2 y M 6 "6 T3

10.-

c, =5 (MPa); c, =2 (MPa) y c, =—7 (MPa)

:£|+Oj+—f< ﬁ2:0f+]+0f< y n, = 2I+Oj+\/7

N

o, =2 (KN/m?); c,, =4 (KN/m?) y o, =—+/3 (KN/m?)

oy = 217,7 (Pa); 6y, = 6483 (Pa) Yy oy = 6254 (Pa)
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13.- 26 (KPa); 6, = —;c (KPa) y 0 = 30° (horario)

Q
N
Il

© X'y (méximo)

Iy
=3h (KPa); o .. = 5 (KPa); Sy

= —)2” (KPa) 'y 6 = 15° (antihorario)

_1000-/3

14.- o, = @ (NIM?);  Tep = == (NM?) 'y Ngg = =1000 (N/m”)

15.- o, = 2.200 (MPa)

16.- wn =113

17- o :—LEJFS)G

vy > (Pa)

18.- p, =052
19.- o, = —-463 (KPa), o, = —6.463 (KPa) y 0 = 15° (horario)

3000

20.- = N/m?); =151
O, = ( ) u

21.- o, =23 (KPa)
Twim = 4 (KPR, N=6 (KPa) y 60 =15 (antihorario)

22.- Aumento = 25 %

23.- =100 (MPa)

c,, = 64 (MPa); oy, = 36 (MPa) y o, = 48 (MPaq)

24.- o, =8x10" (Pa); o, =-2x10" (Pa) y AL=1,375x10"% (m)
25.- a) AT =100°C; b) P = 20 (N)
26.- F = 4.600 (N)

27.- AL = 0,004 (m)

28.- AL = —0,004 (m)

29.- AL

0,032 (m)
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30.-

31.-

32.-

33.-

34.-

35.-

36.-

37.-

38.-

39.-

40.-

41.-

42.-

& = 0,001 (m)

Oon =— 48 (KPa) y o, =—192 (KPa)

e, = 0,002 y e,, = 0,007
1,43 -952 0
¥=|-952 7,14 571 |x10°°
0 571 —6,19
6,=0, =0 (Pa); o5 =2Ea® (PQ) y T, = Ea® (Pa)
— _ 2. _ 2 _ 7.2
e,=e,=—-a"; e;=2a y eTm_ga

o, =—2917,05 (Pa); o,=—- 903,35 (Pa); o, = — 696,35 (Pa)

_ 1 __ 1
Ki=pp ¥V Ke=-35
-~

a) f = —75[(180x2 +9y)i +(3+36y)]j+ (1082)12]

b) e, =0 ; e, =385; e, =3215 y e . =1608

PY 3 £ »
f= 10[(168 +2)i +(1856 - 16)j +Ok]

k2
k-3

E k (v +1k
Trex -2 M
7—_5 ”
f= 4pgk
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y T. =111035 (Pa)
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45.-

46.-

47 .-

48.-

a) el_—ﬂr ; e, =0 vy e3_Qr
2 2
6 6
b) 1—_1OK/ET; c, =0 y 3—1OK/ET
2 2
6
C) eTméx \/ET y Trm’lx= 10 \/E
2 2
2 2
a‘ab a‘ab
a) e, = — e, =0 e
) e a’ + b? 2 y & a’ + b?
2
a‘ab
D) er 2, p?
f= 28105 (115 - 4)i
= 7 c—4)i
a) e,=-001 ; e, =001; e =002 y e, =0015

b) 6, =4x10* (Pa); o, =oc, =2x10* (Pd); o, =0, =0 ; o, =1x10" (Pa)

¢) o, =1x10* (Pa); o,=3x10* (Pa); o, = 4x10* (Pa) y T, =15x10° (Pa)

mMax
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